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Note. -2LL = -2 log likelihood; AIC = Akaike information criterion; BIC = Bayesian information criterion; D = difference statistic; 
* p < .001
a Best fitting model.
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Everyday Physical Activity (EPA) -2LL Parameters  AIC BIC D Δdf

Model Free

    Fixed intercept 2478.504 2 2482.504 2491.08

    Random intercept 1855.22 3 1861.221 1874.09 623.28* 1

    Random intercept, fixed slope

a

1734.948 4 1742.948 1760.11 120.27* 1

    Random intercept, random slope 1732.95 6 1744.951 1770.69 2 2

Mobility  -2LL Parameters  AIC BIC D Δdf

Model Free

    Fixed intercept 5351.336 2 5355.336 5363.92

    Random intercept 4808.272 3 4814.273 4827.14 543.06* 1

    Random intercept, fixed slope 4376.88 4 4384.881 4402.04 431.39* 1

    Random intercept, random slope

a

4198.154 6 4210.153 4235.89 178.73* 2


